
Вариант № 17 - ОТВЕТЫ 

1: 32  

2: август, март  

3: 6  

4: 3 

5: B2  

6: 2  

7: ЛНКК  

8: 14 

9: 81  

10: 25  

11: 12  

12: 2 

13: 169  

14: 11222  

15: 32  

16: 19 

17: АДГБЕВЖ  

18: АГВБ 

19: 1) 26,00 

2) 10 

20:  

нц пока слева свободно 

  влево 

кц 

вниз 

влево 

вверх 

нц пока не справа свободно 

  вверх 



кц 

вправо 

нц пока не снизу свободно 

  закрасить 

  вправо 

кц 

21:  

var a, b, answer: integer; 

begin 

  read(a, b); 

  answer := (b - a) div 2; 

  if (b mod 2 = 1) or (a mod 2 = 1) then 

    answer := answer + 1; 

  writeln(answer) 

end. 


